MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Alumiglass, Inc.
901 NW 35" Street, Suite 100
Boca Raton, FL 33431

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Aluminum Structural Glazed Curtain Wall System -LMI

APPROVAL DOCUMENT: Drawing No. 05-ALU-0059 titled “Alumiwall Impact System (LMI)”, sheets 1
through 8 of 8 dated 08/30/02 and last revised on 02/13/08, prepared by Engineering Express, signed and sealed by
Frank L. Bennardo, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

- RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews # 02-0308.03 and consists of this page 1and evidence sheet E1, as well as approval

document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P, E.

NOA No 07-0625.12

MIAMIDADE COUNTY Expiration Date: September 19, 2012
Q{/ \ % Approval Date: March 06, 2008
-

Page 1



Alumiglass, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (transferred from file # 02-0308.03)
1. Manufacturer's die drawings and sections.
2. Drawing No. 05-ALU-0059 titled “Alumiwall Impact System (LMI)”, sheets 1
through 8 of 8 dated 08/30/02 and last revised on 02/13/08, prepared by
Engineering Express, signed and sealed by Frank L. Bennardo, P. E.

B. TESTS (Test reports transferred from file # 02-0308.03) original test report conducted per

SFBC, PA 201, 202 & 203-94, now termed as FBC, TAS 201, 202 & 203-94.
1. Test report on 1) Air Infiltration Test, per PA 202-94

2) Uniform Static Air Pressure Test, Loading per PA 202-94

3) Water Resistance Test, per PA 202-94

4) Large Missile Impact Test, SFBC PA 201-94

5) Small Missile Impact Test, SFBC PA 201-94

6) Cyclic Loading Test, per SFBC PA 203-94
along with installation diagram of an aluminum curtain wall system prepared by
Hurricane Test Laboratory, Inc. Test Report No(s) : HTL-0237-0708-00 dated 08/01/00,
HTL-0046-0702-00 dated 2/16-19/01, HTL-0237-0312-01, dated 3/09/01 and HTL-
0237-0704-01, dated 7/5-9/01, all signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS
1. Anchor Calculations & structural analysis, dated 10/16/07 and last revised on 01-16-
08, prepared by Engineering Express, signed & sealed by Frank L. Bennardo, P. E.
2. Glazing complies w/ ASTME-1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 07-1116.04 issued to E.I. Dupont De Nemours for “Sentry
Glas Plus”, expiring on 01/14/2012. '

F. STATEMENTS
1. Statement letter of conformance and “No financial interest”, dated Sep. 14, 2005,
issued by Frank L. Bennardo, P.E. consulting Engineers, signed & sealed by Frank L.
Bennardo, P.E.
2. Statement letter of compliance by the Hurricane Testing labs, part of above
referenced test reports.

F. OTHER
1. This NOA revises & renews # 02-0308.03, expired on September 19, 2007

\6(46:4 \ . LlA"‘"‘A‘*

Khaq I Chanda, P. E.

Product Control Examiner

NOA No 07-0625.12

Expiration Date: September 19, 2012
Approval Date: March 06, 2008



F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0059 AlumiWall 6000, LM! (NOANDS-ALU-0059_0a AlumiWall 6000, LMI (NOA).dwg

rbartlett

METRO DADE COUNTY PRODUCT
CONTROL CERTIFICATION DRAWINGS FOR

ALUMIWALL LARGE MISSIL

MPACT SYSTEM

LARGE MISSILE

GLASS LEGEND

rk 19/167 HEAT STRENGTHENED
9/16" |1/4” HEAT STRENGTENED GLASS +

.090 DUPONT SGP
INTERLAYER +

1/47 HEAT STRENGTENED GLASS

02/13/2008 - 2:16pm

GENERAL NOTES:

ARCHITECTURAL ALUMINUM: 6063—T5 ALLOY, U.O.N.

ALUMINUM FRAMING DETAILS ARE DESIGNED IN ACCORDANCE WITH THE 2004 FLORIDA BUILDING CODE.

AND 2006 SUPPLEMENTS.

CURTAINWALL FRAMING:  ALUMIWALL 2 1/2” X 6" STRUCTURAL GLAZED SYSTEM
WITH 9/16” GLAZING AS MANUFACTURED BY ALUMIGLASS

NO 33—1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS
SYSTEM. WIND LOAD DURATION FACTOR Cd=1.6 HAS BEEN USED FOR WOOD ANCHOR DESIGN.

FRAMING TESTED IN ACCORDANCE WITH CURRENT ASTM STANDARDS AND CURRENT
METRO DADE COUNTY PROTOCOLS: TAS201, TAS202, TAS203 & ASTM SPECIFICATIONS
DESIGN PRESSURE +90PSF —90PSF

ALUMINUM IN CONTACT WITH DISSIMILAR MATERIALS SHALL BE PROTECTED PER CODE.

FASTENERS TO BE CORROSIVE RESISTANT AS DETAILED HEREIN
AND CONFORM TO SFBC DADE COUNTY.

STRUCTURAL SILICONE TO BE DOW CORNING 983.

PRODUCT RENEWED

as complying with the Florida
Baiding Code

Acceptance No@7-06 2512

Expiraton Date SEP |G, 2p ) 2
By \5m§ \ ]Ac.m Ac

FRANK L. BENNARDO, P.E.
# PE0046549

E—

\

LICENSED AFFILIATE OF
y ENGINEERING
y» EXPRESS®

160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW.ENGEXP.COM
CERT OF AUTH #9865

|

PH: (954) 354-0660 Fax: (954) 354-0443

/7

()
—f
1K
8 =
©
5 =
Y- E
Q g: wn
Z (=53] >
—_ §8 U')
nillez
nlilleg]
<|llzs[ 2
ezl A
Qs =
= ZE] =
Z: __l
SDlifsg] —
- <
—f
\ b3
-
—J
<L
MEREEERE
HEEEEEE
8/2/2|3|3|3|8
g
mnimim
38l7 2|2 |3ls
=
=§ - | T
JCRREEF
(1)
gl | |lele
< Z|z
T gy
mgz HH
HE
<= (8149|2318
e
NS

PAGE SCALE:
DESCRIPTION:

il

\.




{NOA).dwg

F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0059 AlumiWall 6000, LM! (NOAN05-ALU-0059_02a AlumiWall 6000, LMI

rbartlett

02/13/2008 - 3:09pm

EXTRUSIONS

ALL EXTRUSIONS ALUMINUM ALLOY 6263-T5, UON.

S684

—LEVATION

EXTERIOR VIEW, SCALE 1/4" = 1

180-7/8"

FRANK L. BENNARDO, P.E.
# PEO046549

_\/ .

o

=)
N

/

25" r—-— 25 ——I b5 5 3" ~25"  SIDE w
Ixx= 4.35in"4 = 4 — 1=1/4" M M PROFILE w O N ™
Sxx=1.45 In~4 075 WALL THK. g7 { 4] P % [ | II_ 4 ov I
T ™ M 51213 AS HEAD L N wese =Y
| WALL THICKNESS = 094 I SC(,SAIE'—%’S T | | @ @ ’=\_ < E WL %
607 cLIP = W
EXPOSED SURFACE l I Yy : : / i ANCHOR Ll 2 u.\% 2 E
' 4.751" | i 7 | | <7 uJI-é-xf
MALE INTERMED MULL 125 | WAL THOKNESS = 094 NG o> 2 WE
T 1l | J u w <5 0=
: 5678 B T e | | i e5%|seg 8¢
1‘2'5 S o [ / | $1213 AS JAMB 5 NOZ 3§
Ixx= 4.69 in"4 T | | S W nyz°
Sxx=1.56 in~4 $1213 A JAMB | | N 3o 2
— Lo 60" -3 | | i >
WALL THICKNESS = 094 ' EXPOSED SURFACE | | 9 u P
EXPOSEOB.S(:JRFACE | S1215 2_12" il | | @ 3 BREAK I
HEAD / SILL / JAMB T [ == ————— == ——— Bl oA Here
FEMALE INTERMED MULL l ' —
! / | -
871 5 T i T 40-11p8" / | | / i - E
128" 3'2_5 . / : S678-5715 : @ 4 TYP g =)
2 wy EXPANSION : 8
R - Ixx= 6.69 in"4 ~ 3f | '/H)éRQ_SMU,_,_ | | ‘LSF'LICE 2 s
| =222 in"4 | d 0 WA T 1 ; = , g T
: 6.0° | l A s 11l
T AL moeess = o0t l ' @ : | @ O 85 5
60’ ! HEAD / SILL / JAMB | . =) / ZONy i Z \ll=2 &
| EXPOSED SURFACE ALTERNATE FOR S1213 LA | 9 a2
HORIZONTAL EXPANSION MULL 7 | ! = alzg]
. S684-S678 ] <C |z 3 O
' 5.375" 2-1/2 Il Horiz. MULL | B =z ol <
. EXPOSED SURFACE 4 L/ t L o = 6 g o
.188" TYP. . P — e [ S = 82
WALL 'ICKNESS j%,"'_l_ T : I & 5 E 22 E
Ixx=7.74 in"4 o x P
A f " - - = S =3 -l
Sxx=2.8611 in"4 lr ] = 1.438 I-—S‘: g | // | 3?5# hSA%T_BL ! 323# hSA(EJT_E B s % 3 ge -
T o053 1% WALL THICKNESS = .062" ||s687 "' BEAM | s687 "' BEAM T 5 <
> X N » E —
0.367" SRR7 "Lo.so i <1914 :INSIDE : INSID S E
MULL REINF. (6061—T6 ALUM.) FILL FOR HEAD/SILL j An o | / [ / i " % %
ALUMINUM ALLOY 6263-T5 JaMB | | 3
(2) M2 X I" 8MS TO JAMB ANCHORS WAX DL [ | <
SPLINE GROOVE, (4) TO SDE _| 57-3/4 | 571-7/8" | 51-3/4" |
HORIZ. MULL SPLINE GROOVE (e | |
! O | | O MEEEEEE
Ry H D A1) s ssiglzlsisls
% %\ 114.&4_-,, I S1213 AS SLL ! L K 2"‘3888‘&‘
AN N it T V3 ¥ |--|—1-1/4" X |mmlm
’ 1-1/4" o= CLIP o P e o O
%’ ~ / H i 2-1/2" = |~ /T == AU ANCHOR 2 T
IR 22 ’ MAX 60 3/8" ' 2358
: ' MULLION SPACING
~d " SEE DETAL — w
: ISOMETRIC CLIP & oo
N SHEET 4 2 gie
. alg ==
o213 |o/213
2|2 wl;lElola
P, PRODUCT RENEWED HEE e
™~ , ;scomplying with the Florida HEIE R R
uiding Code
~N Acceptance No27~062Y | L
Expiration Date SEf { & ZDl 2 05'ALU‘0059
PAGE SCALE:
~ FOR SMALL MISSILE IMPACT By \blueq Llland DESCRIPTION:
ORSE"E" SEPARATE O DESIGN PRESSURE RATING Miamil Bade ¥roduct Contrel
ISOMETRIC +90PSF, —90PSF
VIEW 2 9
J




F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0059 AlumiWall 6000, LMI (NOANO5-ALU-0059_0a AlumiWall 6000, LMI (NOA).dwg

rbartlett

02/13/2008 - 2:16pm

VERTICAL SECTIONS

3

1/2 SCALE
MIN E.D.=4"
BACKER {
:I) b
A MAX ROD CLIP ANCHOR
SEE, ISOMETRIC DETAIL
4, V7 |
A\ J1
T |l 3% MAX.SHIM
1l sPacE
1” MIN. || X | ~DOW CORNING L 51914
BITE |||\ 983 CONTINUOUS |
|11\ SILICONE SEALANT ||
I e
o [ |}; “E4510 SILICONE | E
S |1l GASKET 1] =
=i =
> el M 1/ \${ CLIP ANCHOR
f!:; [f’MAx. :y\¥(SEE|SOMETmc
m FF::::a::::::::::%% DETAIL)
A |
i |
EXTERIOR [ |, INTERIOR N
malN N y
I | ] S687 'I' BEAM
il 11 X

I
|
I

GASKET

£4510 SILICONE

DOW CORNING
985 CONTINUOUS

FRANK L. BENNARDO, P.E.\
# PE0046549

\

oz?ﬁ] 8
§\W,M«/
0
w oN®
£, 2
<t
b3
EIJJEP] s
AT ERt-
AN EFFEE
A BEEE
UJ[DD. We > 4
z .Cl:DgLuo
3ZXN09§E
sWljogg £
NgIGET s
4 Oﬂj?“_‘
R0z

" BITE m SILICONE SEALANT
| 'Ry WSE78 (§
%y 2 S678 & S715
ROl oy | g s o
y ULLION. SIMILAR) ALUM. ANGLE EA SIDE W/
//” S (2) 5/8” THRUBOLTS THRU
DOW CORNING s VERT MULL & ANCHOR PER
795 SILICONE I S715 1) TABLE ON SHEET 7
| @ ]\ BackeR Rop ¥
- ; T 5 1
. ‘ -mH1/4 ':' 1MIN3MAX+=N
§ ||l 5 e :
1T iBoLTS W/ NUT R -
1
J i | | AND WASHER Zi; §;> e :
' ” l 7 — 1 v
. : | S | { E =
|1 [
O L i : =
2 1| e surponr 1S :
oo (Il [T (AT MIDSPAN SLAB) Hire=
— ||| 1| L
2S5 =
1/~ s687 1= 9/16” HS/HS LMI
- :y/_I—BEAM L~ SENTRY-CLASS PLUS
f | | S684—-5678
L | MULLION
| .

1l

PRODUCT RENEWED

48 complying with the Florid
Buiding Code e

Aveeptance No©D ~-0C 25 - 12
Explration Date SEL [T, 201
By‘ \b\A“ﬁ \ . LLQ wA
Misemj :hde’?bdim Contrel

~
b
| 2
g =
o
g =
T L
Ollls-| 7
Z =5
=llszl 77
g lzz| 2
oz & b
<C ||l & 3 I
ol o
Qs =
s 8| =
Z: __I
3 881 O
s
[
\ =
)
|
<
MEEEEEE
IR
< =B |2 IS
NS |D |G {B|S|&
Al l=11{=1r-2 =20}
g
oola(m
518|727 |33
r4
;E |
gy HEE
iy
(&) [F:207]
2| | g8
HERREE
253 828
= [+
212822818
= T e R

PAGE SCALE:
DESCRIPTION:

3




F:\01 Project Files\Alumiglass (ALU)2005 Jobs\05-ALU-0059 Alumiwall 6000, LMI (NOAN05-ALU-0059_0a Alumiwall 6000, LMI {NOA).dwg

rbartlett

02/13/2008 - 2:16pm

FRANK L. BENNARDO, P.E. \
# PE0046549

HORIZONTAL SECTIONS @NTERMED ofS1hugs

MULLION CONNECTIONS :

A EE:
i R
< UJ #mg; Z
S I'UUJ W O
T EEP RN
P UJ z2 23
< Z I.LII o X ®
T BT
- 5" ANCHORS TO HOST 2 w% cBgEs
. \ STRUCTURE PER wZ 50835k
].3 . |~3 . TABLE SHEET 8 N ¥ 5 Wi P
MIN. MIN. ') I WIHESS
f 1 K i | I AR
I I 4 o=
[] [] {7 [ H ¥ SUQJE
- ™ — [~ ” Il ll /
1 ! h ¥ 1 ANCHORS TO HOST
M, Ui U UL 1 I STRUCTURE PER
E=— | L ; 1 I ) | TABLE SHEET 8 .
l |L ARBRA AR RARALRRAALARRABRARY. RARRNY = E
= ! h j] | & 3 ~—
H SR i I N "
> O O | i o o | =
i —— B fine 5 b Oflfz=| &
,, | | N gz
:;\ (WZ/) ’zyBUTT?CRuighEIS? — LLL LTI I L I I T T I T T T g IIK \ 2 %E;% IL—)
I : 70X WELD TO STEEL HOST Jlesl <
(2) % THRUBOLTS ” “ STRUCTURE (%" FILLET Qlifes| =
W/ NUT & WASHER™ |1 i WELD, FULL PERIMETER — Silzel =
1 i ONLY APPLICABLE IF A36 Slllzg] =
A K 1 STEEL ANGLE USED) — <
=S = 1 i 3
1 ] X | 7"X5"X5"X}" 6063—T6 ALUMINUM % =
R ANGLE (OR A36 STEEL IF WELDED 2
“%(((((i@ﬁ))))))% TO STEEL HOST STRUCTURE) <
MEEEEEE
HORIZONTAL SECTION EXTERIOR ELEVATION e
a
4
B N.T.S. 82 N.T.S. 5clz|2lglg
4
2z | 2@
alt S
PRODUCT RENEWED ] g % 9] % %
28 complying with the Flo !ESUEUU
Buiding Code ¢ Florida §§§§§§§
ZlEidoltwls

Aceeptance N ~ 61 L
Expiration Dage Cept 7ol 2

gy_\Stes [0\ ool [05-ALU-0059
Mfﬂw oduct Contind PAGE SCALE:
I visi DESCRIPTION:




$886# HLNY 40 L¥30

( . . . o
S ) WOO'dX3ONI' MMM (IW1) WALSAS 1DOVdWI TIYMINNTY Ln
g EPYO-SE (v56) X4 0990-+SE (bS6) iHd MW
Zrce 14 'hovas dnatiuasg — B D e 19|
M@ l//“/ LEPEE 14 ‘uaey eoag , Q0L NS 19248 YISE "M'N 106 G0/S1/60 a4 v 084 1002 - ¢ — Mm
Lm ®mmmmnxm //\/!\A’ 7 L ; ; 20/0L/60) €14 ” .ow_E“m A_ % m
RN NG A ONI'SSYIOINNT o] sl smnaeaeod | (e
mﬂ o 40 3JLVINIdd4dvY AISN3IDIT 21va | AMHO|NMYa SHAVYNIN o M ﬁ
V/ A
G\ —~~ = Q.M (W
> £ 3|
QO < ag SN 3
- = £: D
W_ o o W s s ¢ ‘)
~ = o 9 O = = o 00 £
— LD v - pgza o
eI a 5583 ¢
o QL SELEE hm
L = - o
- ™~ % <C . SEESEE 2
< 3O pHuig Hira
N O X - EgEEF 2
Ll (ne O ) —~ — ﬂ
T Z2HE O ©
LW zZoH L
. w2 <TIh: S
. v (@) N
N O LN % —J
~
Lo
I~
[o@]
«©
O 3 NE v
e /Y /% )
O <
C . \// /,/2
=< 4 7
C = \ x
=2 N -
- W2 =ING
= Ll
> O = / = Y, L
H O= =3 ¢ ”
= 0 X <7 =
= ) .
W ©
| — o =
C =
©
o« &
O
==
= O O
o Z 5~
[@a < = O
- <C (e
= HOI4JLN 0t = =
m —n W o Ll
Q9 oL o=
i o
\ / =8
LuJ
N T —— R /H/ IIIIII === < L L
N T -0 T
L
O |

I

HORIZONTAL SECTIONS

= [aaN]
o o
| —
I 21| PA
I N
a M #
Il o~ M
N wn
e S o
- - - —_ ] lﬁnmmm&%
L | mmmmmmmmmmmmmmmmmmmmmmmmmmmmmm
1
5 27
A < NS
W = x \\
z O X TR A S
/ — |
> s |
[
A
)
(|
e

Bmp*(YON) I ‘0009 IIEMIWNIY B0 6500-NTv-SO{YON) 11 ‘0009 IIBMIWNGY 6S00-MTV-SO\SI0r S00ZWNTY) sse|Biun|y\sajid 108fo1d Lo\ peiveqr  wdgL:Z - 8002/EL/20



F:\01 Project Files\Alumiglass (ALUN2005 Jobs\05-ALU-0059 Alumiwall 6000, LMI (NOANO5-ALU-0059_0a AlumiWall 6000, LMI (NOA).dwg

rbartlett

02/13/2008 - 2:17pm

IYPICAL HORIZONTAL SECTION

/2

N

SCALE

(OPP. SIDE SM.)

r— 1/4" MAX. SHIM

EQ
| |

FOR SPACING AND ANCHOR TYPE AT JAMBS,
REFER TO ANCHOR SCHEDULE ON SHEET 8.

M4 FHSMS AT

ca o/ INTERMED SPAN

HEIGHTS

INTERIOR 2

S

5687

5684

S67/8

EXPANSION MULLION

OR S715 S684-S678
HORIZ MULLION

S678

EXPANSION MULLION

OR S715 S684—S678

HORIZ MULLION
SDDDIIDIOA

=
174 (€CeeCs

|

7

EXTERIOR

=

-
1IN

gh—b_ —
N

1" MIN.
GLASS
BITE
(TYP.)

1/2”
GAP
TYP.

OPTIONAL CAP. ADHERE
WITH SILICONE ADHESIVE

5/16” x 3/8” SPACER

FRANK L. BENNARDO, P.E. \
# PE0046549

A EXPRESS®
160 SW 12th AVENUE, #106

DEERFIELD BEACH, FL 33442
WWW.ENGEXP.COM
CERT OF AUTH #9885

LICENSED AFFILIATE OF
A/ ENGINEERING

PH: (954) 354-0660 Fax: (954) 354-0443

901 N.W. 35th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300* Fax: (561) 750-8711

LUMIGLASS,INC.

) s

ALUMIWALL IMPACT SYSTEM (LMI)

MEEERRE
5|28/12|2/23
°12/2(33|3|S
g
mimim
5lold|d|2|3|a
=
3 s |
g4, 28
8 wln
2| | |ge
alg S
®» ﬁ = ==
18! |2|8/8
PRODUCT RENEWED 2 2/8/8/218/8
as complying with the Figrigs &(s|S|=|8|=)8
ing Con HETS R R
Awegptqnee Nog 7-p(2)~) 2
Esyiration Dute Gz p 197 76 10— 05-ALU-0059
By, ‘§ LU_‘a ! . CL‘,_‘:J_._ PAGE SCALE:
M»,M o Qﬂnwx; DESCRIPTION:
Division

6

\.




F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0059 AlumiWall 6000, LM| (NOAN05-ALU-0059_0a AlumiWall 6000, LMI (NOA).dwg

rbartleit

RIBBON APPLICATION AND
PUNCHED—OPENING (VERTICAL SECTIONS)

1/2 SCALE

INTERIOR

It
BACKER v
ROD SEE ANCHOR SCHED O
% 9 -
/ >/ Bl
e IV y - |
f e ] ; Hl
_ T -
I s1013 [ 51214 N
_V - < (G I
e |l DOW CORNING §
983 CONTINUOUS I
% ||| SILICONE SEALANT % IH S1914
= | F4510 SILICONE ~ A |
% o GASKET L] | {{{\é o A
— | = L g —
. — B MAx l
BN N\

SEE ANCHOR SCHEDULE

FRANKL. BENNARDO, P.E. "\
# PE0046549 ’

02 08

\\\\\\H

#9885

CERT OF AUTH

WWW.ENGEXP.COM

LICENSED AFFILIATE OF
7/ ENGINEERING
I\ EXPRESS"®

166 SW 12th AVENUE, #106
PH: (954) 354-0660 Fax: (954) 354-0443

DEERFIELD BEACH, FL 33442

901 N.W. 36th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300* Fax: (561) 750-8711

LUMIGLASS,INC.

)

ALUMIWALL IMPACT SYSTEM (LMI)

02/13/2008 - 2:17pm

GLAZING DETAIL

INTERIOR

9/16” LAMINATED:
1/4” HEAT STRENGTENED GLASS +

0.090” DUPONT SGP
INTERLAYER +
1/4" HEAT STRENGTENED GLASS

TN 1/4" x 3/4” MIN. DOW

CORNING 983 GLAZE BEAD
5/16" x 3/8" SPACER

H

EXTER()R[m:
”

MIN \
GLASS \\‘1/2

BITE
(TYP.)

MEEEERE
AR
2128|333/
g
38zl 282
=
2= kS
HEIRREEE
g oo
I
WED 2] % % o g g
PRODUCT RENEWE I
as complying with the Florida E E § gz § §
Bn’idingCode -~ mh?zlt:lmnla
Aceeptance Nod 2-062) ,L2/ [ EY PP
Expiration DutedE 20l
» leas . (Leauds] 05-ALU-0059
!V{iami Darte Prduct Contre’ PAGE SCALE:
Division DESCRIPTION:
Z :




6000, LMI (NOA).dwg

F:\01 Project Files\Alumiglass (ALU)\2005 Jobs\05-ALU-0059 AlumiWall 6000, LMI (NOA)\O5-ALU-0059_02a Alumiwall

rbartlett

MAX. 60

-

0.C,

MULLION
SPACING

AN

-—57.5

l T F

T

w

2 ~

© | ] f

Y oN I

T I

o |

= At
T i : —

= f

— -t

_

- |

— |

i i

o |

Lo o |

= - I

“O Achggg I

— EA ||

.l

(SEE |

SCHED) |

il

| [}

DLO

MAX DJ.0 ”
57.5

N\

MAX DLO 93 1/2

DLO,
57.5"—

A
|

LARGE MISSILE GLAZING

(BELOW 30')

9/16” OVERALL SENTRY
GLASS PLUS 1/47 H.S. +
0.090” SGP BY DUPONT

+ 1/4” H.S.

— e~

8 0" FS.

I

=

4"

/4’7

SUBSTRATE

CONNECTION AT:

TYP. CLIP ,,
4+ ANCHOR

TYPICAL MAXIMUM DIMENSION RIBBON APPLICATION

| JAMB

2.5

CURTAINWALL AND RIBBON APPLICATION
ANCHOR SCHEDULE

<> HEADER/SILL CLIP

FOR SMALL MISSILE
SEE SEPARATE NOA

IMPACT

MAX DLO
57 1/2"

70,

MAX DLO 93 1/2”

FOR
SFPACING ¢
ANCHOR
TYPE, SEE
CHART
BELOW

TYP

II_.I

“TENDS (TYP.)

SINGLE FIXED UNITS
TYPICAL MAXIMUM DIMENSION
PUNCHED OPENING APPLICATION

1/4"

DESIGN PRESSURE RATING
+90PSF,

—90PSF

INTERMED FLOOR SLAB
ANCHORAT MULLION
(CURTAINWALL
APPLICATIONS ONLY)

| JamB

PUNCHED OPENING
ANCHORS

| HEADER/SILL

CONCRETE
(MIN. 4000 PSI)

ELCO 1/4" x 1 3/4" EMBED TAPCON
4" FROM EA HORIZONTAL MULLION
END, BALANCE 7 3/4" 0.C. MAXIMUM
3" CLEAR FROM ANY CONCRETE FACE

(2) HILT 3/8" x 3" EMBED KWK BOLT il ANCHORS
OR 3/8" POWERS WEDGE BOLT x 2 1/2" EMBED EA. SIDE

21/2" & 5 1/2" FROM C/L OF MULLION CLIP TOTAL (4).

ADD HILTI 3/8" x 2 1/2" EMBED KWK BOLT Iii OR
POWERS WEDGE BOLT 3/B" x 2 1/2" EMBED AT
21/2" & 5 1/2" FROM JAMB ENDS

(NO CLIP AT JAMB ENDS)

7" X 5" X 1/4” X 5" DEEP ALUM. ANGLE EA
SIDE W/ (2) 5/8—11 THRUBOLTS THRU VERT
MULL & (4) HILTI 3/8" x 3 1/2" EMBED
KWIK BOLT I ANCHORS OR POWERS

WEDGE BOLT 3/8" x 3" EMBED TO

CONC EA. ANGLE 3" CLR FROM

CONCRETE FACE.

ELCO 1/4" x 1 3/4” EMBED TAPCON
4" FROM EA END, BALANCE 5 1/2"
0.C. MAXIMUM, 3” CLEAR FROM ANY
CONCRETE FACE

ELCO 1/4” x 1 3/4” EMBED TAPCON
4" FROM EA END, BALANCE 3 1/2"
0.C. MAXIMUM, 3" CLEAR FROM ANY
CONCRETE FACE

CONC BLOCK

ELCO 1/4" x 1 1/4” EMBED TAPCON
4" FROM EA HORIZONTAL MULLION
END, BALANCE 7 3/4” 0.C. MAXIMUM
3" CLEAR FROM ANY CONCRETE FACE

CONCRETE SLAB OR STEEL STRUCTURE
CONNECTION REQUIRED

ELCO 1/4” x 1 1/4" EMBED TAPCON
4" FROM EA END, BALANCE 5 1/2"
0.C. MAXIMUM, 3" CLEAR FROM ANY
CONCRETE FACE

ELCO 1/4" x 1 1/4” EMBED TAPCON
4" FROM EA END, BALANCE 3 1/2"
0.C. MAXIMUM, 3" CLEAR FROM ANY
CONCRETE FACE

STEEL
(MIN. SUBTRATE
THICKNESS=1/4")

1/4—20 SAE GRADE 5 STEEL THRUBOLT
4" FROM EA HORIZONTAL MULLION
END, BALANCE 7 3/4" 0.C. MAXIMUM

3/8-16 SAE GRADE 5 STEEL THRUBOLTS EA. SIDE,

2 1/2" & 5 1/2" FROM C/L OF MULLION CLIP TOTAL
(4). ADD 3/8" THRUBOLTS AT 2 1/2" & 5 1/2" FROM
JAMB ENDS (NO CLIP AT JAMB ENDS)

7" X 5" X 1/4" X 3" DEEP STEEL ANGLE
EA SIDE W/ (2) 5/8—11 THRUBOLTS
THRU VERT MULL & 1/4" FULL FILLET
WELD TO A36 STEEL SUPPORT

1/4—20 SAE GRADE 2 STEEL THRUBOLT
4" FROM EA END, BALANCE 5 1/2"
0.C. MAXIMUM

1/4-20 SAE GRADE 2 STEEL SCREW
4" FROM EA END, BALANCE 3 1/2"
0.C. MAXIMUM

WOOD

#14 x 1 1/2" EMBED GRADE 5 WOOD
SCREW 4" FROM EA HORIZONTAL
MULLION END, BALANCE 7 3/4" 0.C. MAX

3/4” x 7" LAG SCREW (3 1/2" THREAD EMBED)
EA. SIDE. 2 1/2" & 5 1/2” FROM C/L OF MULLION
CLIP TOTAL (4). ADD 3/4” LAG BOLTS AT
21/2" & 5 1/2" FROM JAMB ENDS

(NO CLIP AT JAMB ENDS)

CONCRETE SLAB OR STEEL STRUCTURE
CONNECTION REQUIRED

#14 x 11/2" EMBED GRADE 2 WOOD
SCREW 4” FROM EA END, BALANCE
5 1/2" 0.C. MAX

#14 x 1 1/2" EMBED GRADE 2 WOOD
SCREW 4" FROM EA END, BALANCE
3 1/2" 0.C. MAX

02/13/2008 - 3:09pm

MNNERNN
wiols|o|2(8|S
Z12|8/22|2)F
05|35 ||
— Q|0 |OC{Ov
=]
X| m|mjm
582|772 |33
=
Si= a|T
g4, 25
o] oo
2 | gz
2| | |52
21=18] |2/818
PRODUCT RENEWED 5 % | 1
as complying with the Flerida z/313 2is(3|8
Baiding Code -~ HET R R S
Asceptance Ne O 76‘ ot lfL
Expiration Date 3
e | (Lowe |05-ALU-0059
Shaq o PAGE SCALE:
mumi Bnﬂzlrmdm Continf’ DESCRIPTION:
Division

P——_]

# PE0046549

02f

FRANK L. BENNARDO, P.E

—

08

w
(o}
w
'—
<
=
w
I
<
[a]
w
o
r4
w
Q
-

0
Z
i
W
7]
Z
0
Z
-

v EXPRESS®
160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW.ENGEXP.COM
CERT OF AUTH #9885

Pr: (954) 354-0660 Fax: (954) 354-0443

901 N.W. 35th Street, Suite 100 * Boca Raton, FL 33431

(561) 750-2300" Fax: (561) 750-8711

LUMIGLASS,INC.

g

ALUMIWALL IMPACT SYSTEM (LMI)

\.




BN
8

FRANK L. BENNARDO, P

# PEQ046549

§986# HLNV 4O 1430 9 @w )
WO dXIONI MMM (IW1) WALSAS 1OVdWI TIVMIWNTY Ln
£pP0-bSE (b56) ¥4 0990-bSE (¥S6) *Hd %
B ey e T s
90T# "ANNIAV UICT \Lf LEPEE 74 ‘Uojey BOOd . 001 SUNS ‘JO8US UISE "M'N LO6 S0/SL/60 aa v 28310027 w ] ANu
P =1 1]
°SSTHAXT M =3 . zo0u0] enal - osne] | < [RE
\/Wl_M : 20/0£/80| 74 -] JONVINdW0Q 3000 -2 [N [ [
SNIH33INIONI \\\\// ONI'SSVIOINM 20/00L] 10| War QVIHEAVT LTV] % ) m
40 F1VITIdd4v d3SN3DIT 31va | ayHI|Nmua SHYVNTY =4

S

A
o s
- ./wlva.nw
Eeé
2E (i A
2 vl
625tz i
- S E R m
HIE
gD &Fé
=
I
S O
X id
= <C Dn_DlH
= O =
— L T =<C
= Ll
m a C CO m
O o 56 T ,
= M ) P_._._Aln o
e Lo B LL — ©w
= SON\| |z SOk i
H —
=
O
- 23 JORIAINE )/ \
IIIIIIIIIIII —_—— = —__—__—_
WE lllllllllll \\I& N N
w F
_ C/_LM_W S_I I
N Z I
M S < Y I
/ GOL w .
o << < |
N WN% © < |
— S Z w D s 1
CON O_Ll_ =
T SRt at
[l QO @]
L1 | < O oW = o=
- ) O N ~ |1 Lt
5 <O - >~ I =
< ; m - S B
= 4z / e —--
<C = 22 =
R I ——
EERRY X ’
— o A
<L > 7 , JOld4LX4 o
<C A < mu_lL
— — ><
~ ]

Bmp (YON) IWT ‘0009 IBMILINIY 0 6500-NTV-GONYON) 1T ‘0009 IBAMILNIY 6500-N"Tw-S0\SA0r S002\(NTv) Sseibiuny\salid 108losd |0\ Hejleq  wd/L:Z - 800Z/EL/20




